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1. The current i, in the circuit shown in Fig. 1 is 2A, find (a) the value of voltage
source Vs (b) the power delivered by the controlled current source.
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2. The circuit in Fig.2 has initial inductor current i (0)= -45mA, and initial capacitor
voltage v(0)=15V. Find v(t) for t > 0.
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3. For the circuit in Fig.3, if ig is the input signal and v, is the output signal.

(a) Find the numerical expression of the transfer function in s-domain.
(b) Give the numerical value of each pole and zero of the transfer function.
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4. The voltage source in the phasor-domain circuit shown in Fig.4 is

V, =240/0°V(rms). Find the average power and reactive power delivered from
the voltage source.
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Find I, and I, if the transmission parameters for the two-port circuit in Fig. 5 are
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